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QUESTION 1

In which perspective are risks MOST likely to be found if a transition is not properly managed and resourced? 

A. Operational 

B. Programme 

C. Project 

D. Strategic 

Correct Answer: A 

 

 

QUESTION 2

What role has a focus on designing benefit measures within a programme to track business performance against
targets? 

A. Benefits Realization Manager 

B. Senior Responsible Owner 

C. Programme Manager 

D. Business Change Manager 

Correct Answer: A 

 

 

QUESTION 3

Which role is MOST focused on consulting with corporate governance bodies? 

A. Senior responsible owner 

B. Programme manager 

C. Business change manager 

D. Programme office 

Correct Answer: D 
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QUESTION 4

Which statement is NOT valid for the path to benefit realization and corporate objectives? 

A. Outcomes are enabled by capabilities and followed by realization of benefits 

B. Outcomes are enabled by organizational change and can cause side effects 

C. Outcomes lead to realization of benefits which contribute to corporate objectives 

D. Outcomes contribute to capabilities which trigger organizational change 

Correct Answer: B 

 

 

QUESTION 5

Which is MOST LIKELY to trigger premature closure of a programme? 

A. The scope of one of the key projects has been changed 

B. There is a change of senior responsible owner 

C. The programme is no longer aligned with corporate strategy 

D. The last tranche has been completed as per the programme plan 

Correct Answer: C 
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